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dual of frame 6, mean
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residual of frame 8, mean = 1.2330580949783325 +- 9.403874397277832
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residual of frame 9, mean = 0.7872641086578369 +- 9.391228675842285
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dual of frame 0 - 1, mean
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dual of frame 1 - 2, mean
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residual of frame 2 - 3, mean = 3.512925386428833 +-13.219766616821289
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residual of frame 5 - 6, mean = 2.457310438156128 +- 13.36827564239502
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1.501682996749878 +- 13.26245403289795

dual of frame 6 - 7, mean
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residual of frame 7 - 8, mean = -0.4847146272659302 +- 13.26399040222168
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residual of frame 8 - 9, mean = 0.4457945227622986 +- 13.39015007019043
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residual of frame 9 - 10, mean = 3.2442004680633545 +- 13.263225555419922
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